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18P/306/25(Set-1)

No. of Questions : 120
UeHl B W& 120
Time : 2 Hours | [ Full Marks : 360
WHY ;2 U] [ qoifE: 360

Note : (1) Answer as many questions as you can. Each question carries 3 (three)
marks. One mark will be deducted for each incorrect answer. Zero mark
will be awarded for each unattempted question.

H@W@?ﬁﬁ?ﬁﬁﬁﬁﬁ#ﬁﬂﬁﬁf&mmﬁﬁaﬁﬂlmﬁﬂﬂﬁl
mmﬁaﬁ?a?%vwﬁaﬂam;mﬁmaﬁﬁﬁamwm
[ &I |

{2} If more than one alternative answers seem to be approximate to the

correct answer, choose the closest one.

afe [EEE ddfeus SR we IR @ e vde ® o R g o
2l
Directions : (Q. No. 1) : Read the following passage carefully and answer the questions
that follow by choosing the most appropriate option from the four alternatives.

Generally speaking, a newspaper carries weight. [t carries weight if it has an
individuality and some kind of a crusading spirit. If it has not got these, it merely
expresses the views of some individuals which have some effect of course, but not the
tvpe of effect which a newspaper ought to have. Perhaps this is also largely due to the
'act that newspapers progressively become huge industries ......... not only individual
industries but soon they reach the next stage of development, perhaps an inevitable
~tage, although an undesirable one. That is, they become big combines starting a chain
'f newspapers and dictating policies often detrimental to the interests of the country.
Secause of these big chains, a newspaper loses its individuality and sanctity which
“very paper so zealously guards. It tries to preserve some vested interest and presents
~ome particular view point only.

(3) PiT.LF
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1. A newspaper carries weight, if it Lries
(1) to preserve some vested interest
(2) to present some particular view point only
(3) to guard its individuality and sanctity
(4) to become a huge industry
Directions : (Question No. 2 to 6) : Select from the four alternatives the nearest in
meaning of the word given in italic.

2. grab:
(1) seize (2) disown
(3) pollute (4) accept
3. gory:
(1) friendly (2) white
(3) blood stained (4) bedridden

4, branch:
(1) multiply (2) diversify
(3) whiten (4) activate

5. knotty:

(1) strong (2) stocky

(3) placid (4) thorny
6. nquscate:

(1) sicken (2) ripen

(3) frustrate (4) penetrate

Directions : (Question No. 7 to 11) : Select from the four alternatives the opposite in
meaning of the word given in italic.

7. Fallow :
(1) true (2) fake
(3) reductive (4) productive

(4)



10.

11.

smite ;
(1) hit

(3) refuse

giddy :
(1) steady

(3) curly

Jumble :
(1) mix

(3) arrange

emit :
(1) ruin

(3) exhale

18P/306/25(Set-1)

(2) defend
(4) accept

(2) shaky
(4) huge

(2) skip
(4) enable

(2) suppress
(4) express

Directions : (Question No. 12 to 16) : From the given options choose the one which has

the correct spelling.

12.

13.

14.

15.

diareah

(1)

(3) diarrhoea

(1) complaicent

complasent

(1) aerial

(3) aireal

(1) independence

(3) indipendence

{2) daiarrhea

{4) diarrhoae

(2) complascent

(4) complacent

(2) ariel

(4) aeriel

(2) independance

(4) indipendance

P.T.0.
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16. (1) orckestra {2) archestra

(3} orchestra (4) arckestra

Directions : (Question No. 17 to 21) : From Lhe given options choose the one which can

be substituted for the given group of words.

17. A man who hates women
(1) misogymnist (2) effeminate

(3) misanthrope (4) womanizer

18. A man whose wife is dead :
(1) philanderer (2) widow

(3) widower (1) philistine

19. A rich person who helps the poor by giving money :
(1) diplomat (2) philanthropist

(3) aristocral (4) autocrat
20. Capable of producing the intended effect :

(1) efficacious (2} affecting
(3) affective (4) elfecting

21. An animal with four feet:
(1) biped (2) four-footed
(3) four-legged (4) quadruped

Directions (Question No. 22 to 26) : Choose the best oplion to fill in the blanks:

22 He beat himwitha ..............
(1} lace (2) lash
(3) lack (4} lac

1)
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23. 1 E.Lm not ready to ............such a sentleman.
(1) inculcate (2) inculpate
{3) incubate (4) incorporate
24, Shedidn't.............. the idea of going home in the dark.
(1} imagine (2) think
13) want (4) fancy
25. Hewent............... last year.
(1) show (2) bankrupt
(3) church (4) unjust
26. She didn't tell me anything but her .............. expressed everything.
(1) gestures (2) books
(3} case (4} lot

Directions (Question No. 27 to 31) : From the given options choose the most
appropriate preposition to fill in the blanks.

27, Heissickossuamas the same old love.
(1) in (2) from
(3) of (4) with
28. Which date was sheborn ............. 7
(1) in (2) at
{3) on (4) with
29. The patient was prevented ............ commiting suicide.
(1) with (2) in
(3) for (4) from
30. The teacher testified ............... the character of his pupil.
(1) for (2) to
(3) of (4) no preposition
e HEMWHHNG .. convoronmma a pen.
(1) bv (2) from
(2) with (4) of

(7) PTO.
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Directions (Question N

0. 32 to 34) : Choose the option for the underlined expression

in the given sentences to make the sentence grammatically correct.

32. Sudhir has passed the examination in 2012 :

(1) had passed (2) have passed

(3) passed (4) would pass
33. Being a hot day, she didn’t go out.

(1) Being it a hot day (2) Itwasa hot day

(3) Having been a hot day (4) It being a hot day
34. [am knowing her since her childhood.

(1) have known (2) have been knowing

(3) had known (4) had been knowing

Directions (Question No. 35 & 36} : Choose the option that best expresses the meaning
of idioms given below. :

35. Come round :

36.

37.

38.

(1) make circles (2) regain consciousness
(3) complicate (4) resultin

Dash off :

(1) compose hurriedly (2) skip off

(3) disappoint (4) enler one's house

Present ages of X and Y are in the ratio 5 : 6, respectively. Seven vears henc
this ratio will become 6 : 7 respectively. What 1s X's presaenf age in v;:ar:; ?

(1) 35 (2) 42 '

(3) 49 (4) Cannot be determined

X du1 Y P adae 35 FHAR 5: 6 817 T 7% 77 9@ 6 : 7 &

) O 3 + . 6.7 8 ER
B X @ T g 2rft -

{1} 35 (2) 42

(3) 49 (4) Teifa =8 v @ aaa

A does a work in 10 days and B does the same work in 15 days. In how mam
days they together will do the same work ? ) '
(1) 5days (2) 6days
(3) 8days (4) 9days

(8)



39.

40.

41,

42,
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A fl o @1 10 B 8 g #vor @ den B o & 61 15 39 § 93 @ e 2
& FATaR S T @ 96 B B fras R # qu e ?

(1) 5= 2) 6f37 (3) 8faH 4) 9fz=

A car is running at a speed of 108 kmph. What distance will it cover in 15
seconds ?

(1) 45m (2) 55 m

(3) 450 m (4) Cannot be determined

T R 108 fehodile Bt TeT B 71l W 7 W& €1 159 A fFad g o ?
(1) 45 #o (2) 55

(3) 450 Ao (@) PuifRa =& far w7 g

A boy goes to his school from his house at a speed of 3 km/hr and returns at a

speed of 2 km/hr. If he takes 5hr in going and coming, the distance between his
house and school is :

(1} 5km (2) 5.5km (3) 6km (4) 65m
UF GSE AT W N @ 3 fho Mo ufd gver A wfy @ s # qen 2 o fe

g ver o N | IE I & | §6 WeR A IR T H F@ 5 ued oo € A
ded @ W ¥ e o o et

(1) 5 fHodla (2) 5.5 fdodio (3) 6 forito (4) 650

Two trains are running in opposite directions with the same speed. If the length
of each train is 135 m and they cross each other in 18 sec, the speed of each train
15

(1) 104 km/hr (2) 27 km/hr
(3) 54 km/hr (4) 100 km/hr

21 et Reda R & e & ofd @ 3o @ £ 2R vds o @ T=E 135
Mo & TUT T UF PR B 18 AT H FH B AR E, A7 @S # afy gnfy

(1) 104 fodio / €veT (2) 27 foto / gver
(3) 54 fahodlo /gueT (4) 100 fFotiio / Tvey

The speed of a boat in still water is 8 kmph. The boat goes 6 km and back to the
starting point in 2 hr. Find the speed of the stream :

(1) 4 kmph {2) 6 kmph (3) 4.4 kmph (4) 5 kmph

(9) PTE,
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43.

a4,

45,

46.

47.

o el g @ W & froflo ufd gver €1 @ 6 Frofto irdl & To1 ae U
T R v W & R e @ 280 @id &1 AR akat el

() 4 fapoflo it GueT (2} fbotflo gfa ToeT
(3) 4.4 Reoo wfet ToeT (4) 5 fkodiio gfer goe

In what ratio must a grocer mix two varieties of pulses costing R, 15/ky and
Rs. 20/ kg respectively so as to get a mixture worth Rs. 16.50/kg 7

3 YHR B e B Gy ama ® fend BB e gu ora @ S 1650 0wl
fipotTo & Wald UH U @1 aTd @ e 15 To Gl oo & qun gay 7R o
T B #d 20 To wfd fFoTme g ¢

0 I 25 &ad (3) 7:3 (4) 7:5

A 5 m wide lawn is cultivated all along the outside of a reclangular plot
measuring 80 m x 40 m. The total area of the lawn 1s

TE SAATET Far Ravedl W oA 80 Flo x 40 e & TS 71 #@3E 5 fe
I ot @ gas HIEn on el B 81 d B Hel fEET gl

(1} 1200 m° (2) 1300 m? (3) 1350 m? {4y 2800

Find the missing term in each of the following guestion
forer SRt F wEredl U el
POQ, SRT, VUW, ?
(1) XYX (2) XZY (3) ZYX (4) YXZ

How many such '4 are there in the given series which is immediaiely preceded
by 7' but not immediately followed by '3 7

fae frdr gy ool A 4 Rperdt e amn & oAt F4B gl TR M T F 3 Ay ?
593217426974613287413832567439520187463

(1) 3 (2} 5 (3 6 (4) 4

In a certain code language MORALE' is wrilten as 'NPSBMF, how will

'CHARGE' be written in that code language 7

(1) CIBQHF (2) DIBSHF (3) DIBQHE {4} DEBQHF

T @ 9 # 'MORALE &1 NPSBMF' Tr@n @ & ol CHARGE' #1 &0

Ferear @ty ?

(1) CIBQHF (2) DIBSHE {3 IMBQUHIF (4) DEBQHF

(10)
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48.  Ram walks 10 m towards Fast, then turns towards North and walked 15 m and
then after turning to the West he walks 10 m, there after he turns towards South
waiks 15 m. How far is he from the starting point ?

(1) 0m (2) 2m (3) 4m (4) 5m

w10 Mo qxE R # o € ES A" IR B # e 15 Mo down & | 9w
arg g Tf¥an fGem # guex 10 Wew ged &) acvera <@ fen § 9w wer @
3R 15 dlo =erdr & | I W faeg | fbae gr & 7

(1) 040 (2) 2#o (3) 470 (4) 5%

49. In a row of boys, A is tenth from the left and B is ninth from the right end. If
they interchange their positions, A become fifteenth from the left. How many
boys are there in the row ?

(1) 23 2) 27 (3) 28 (4) 31

TSH B UH FAR A A BT AE [ 1091 2 921 B < W 99 U Ww &) Ul A den

B T amqE H 959 &0 d@ A @ T WFE @ #1530 8 o €| saw § e
fopery ot & 7

(1) 23 (2) 27 C(3) 28 4) 31

Direction : {Q. No. 50 to 53) :
Study the following sitting arrangement carefully and answer the given questions
oper dod @ v B enE @ ud g By U U @ O 2
P, Q. R, S T, U, Vand W are sitting around the circle and are facing the centre.
P,Q RS T, U VA WUH daR & cdd TR 4 3l 06 I8 &7 99 2|
(a) P issecond to right of T who is the neighbour of R and V.
P, T® g T de1 2, T, R V &1 uerdl # |
(bj S1s not the neighbour of P.
S, P& geid) A8 & |
(c) V is the neighbour of U,
V, U @ 9ot B |
(d) W is sitiing between U and 5.
W, Uda & drag a1 21

(11) P.T.O.
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50.

21.

52,

53.

54,

55,

Which two of the following are nof m*ighhuurﬁ?

(1) RV (2) UV

fyet 1w =7 s 1 el a8 & 7

(1) RV (2) UV

Who is at immediate right ol V 7

L), (2) U
P V& ged afed 8 7
(1) P (2) U

(3) RP (4) QS
(3) RP (4) Q%
(3) R (4) T
3) R (4) T

Which of the following statement is correct ?

(1} Pis to the immediate right of Q
(3) Sis to the immediate left of W
=1 H B T s 7

(1) P,Q® gemy amfs &)

(3) S, W& =1 91l 987 ¢ |

What is the positionof §7

(1) Between Uand V

{3) To the immediate right of W
S @l | EnT

(1) Udenm V& 911

(3) W gz afeq

(2) Risbetween UandV
(4) U is between W and S

(2) RUGM V& &g § &
(4) Uwaem s 49 4 & |

-2

(2) Second to the right of I”
Data is inadequate

e

(2) P T gHY w9 0w

(4) STel suale &

HA:B=5:7.B:C=6:11thenA:B:Cis:

(1) 55:77: 60 (2) 30:42:77

(3} 35:49:42 (4) 254296

e A:B=5:7,B:C=6:11TA:B:C&nm:

(1) 55:77:66 (2) 30:42:77

The smallest no. of three digits is :

{1y 111 (2) 100
A afet & 99 BId) 9wy &
(1) 111 (2) 100

(3) 35:49:42 (4) 55:42:94

(3) 990 (4) 999

(3) 99() (4) 494
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26. I X is the brother of the son of Y's son, how is the X related to Y ?

(1) Son (2) Brother (3) Cousin (4) Grandson
AXYS QA QAT L, MXY T A a1 2 ?
(1) 3 (2) % (3) =T T (4) e
57. Choose the correct option which completes the series :
ADG, XVT, BEH, WUX, ?
(1) VIR (2) STU (3) DFJ (4) CFI

W R gAY o A0 B @ S 2
ADG, XVT, BEH, WUX ?
(1} VIR {2) STU (3) DF] (4) CFI

58. A walks slower than B and B walks faster than C and C walks faster than E,
then who walks the fastest ?

(1) A - (2) B
(3) Can't be determined (4) D

F W B ST W T & T @, M F NUET O Uadl & a9 0 9 @ e
a9 gddl £ B " a9 ued 8 ?

(1) A (2) B
(3) frerifea =21 foban o1 Hpen @ (4) D

Direction : In the following question choose the set of numbers from the four
alternative sets that is similar to the given set.

Frafofiag uza 4 R T aw Rads el ¥ a9eT W & wg= § gy

59. Givenset: (4,9, 18):

(1) (8, 14, 22) (2) (10,15, 25)
(3) (6,12,23) (4) (12,17, 26)
HTay Ay - (4,9, 18):

{1y (8,14, 22) (2) (10, 15, 25)
(3) (6,12, 23) (4) (12,17, 26)

(13) P.T.O.
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60.

61,

62.

63.

64.

65.

If ARUL could be given the code number 52, what cade number be given to
BINA ?

(1) 50 (2) 26 (3) 30 (4) 42

afe ARUL @1 52 T8 e & @) & o BINA &1 @1 $is gen e ?
(1) 50 (2) 26 (3) 30 (4) 42
What is the valueof H+ B+ F?

(1) 20 (2) 16 (3) 17 4) 15

H + B+ F &1 @el B0 &1

(1) 20 (2) 16 (3) 17 (4) 15

How many times from 4 : 00 PM to 10 : 50 PM the hands of clock will be at right
angles ?

(1) 9 (2) 11 (3) 10 (4) 6
4:00PM @ 10: 00 PM & €rg Reae ar” o8l @1 g8 90° @ iy o gnft ?
(1) 9 (2) 11 (3) 10 (4) 6

If + means x, + means —, X means + and — means + the value of 4 + 11 = 5-55 js:
(1) 79 (2) -11 (3) 91 (4) 94

afd + &1 e x, + P A -, X BT Aqed + 3N — Bl A4ded + 2, 4 + 11 - 5 - 55
1 " B

(1) 79 (2) -11 (3) 91 (4) 94

How many numbers from 11 to 50 are there which are exactly divisible by 7 but
notby 37

{3 2 2) 4 (3) 5 (4) &

11 9 50 & @ru et fhoet wea & &1 7 9 quiean fnfaa 8 & oo 3 &
g 8 ?

(1) 2 ) 4 (3) 5 (4 6
The average of first 50 natural numbers is :

(1) 25.0 (2) 25.5 (31 26.00 (4) 26.5
¥ 50 agd d@msl @1 it g

(1) 25.0 (2) 255 (3) 26.00 (4) 26.5

(14)



06.

67.

68.

69.

70.
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The ratio of the ages of A and B is 4 : 5. After 5 years the ratio of their ages will
be 5 : 6 respectively. Then present age of A is :

(1) 10 years (2) 20 vears (3) 25 years (4) 40 years

A T B B TdHH ST BT SET HAE 40 5 81 5 94 diC g I B 5 0 6 8
AR | A T FEET 3 #

(1) 1y (2) 204 (3) 2544 (4) 40 T4

Salary of Ramesh has been increased by 20%. Due to some reason his new
salary has been reduced by 20%. Then how much percent salary of Ramesh will
gain or loose ?

(1) 4% loss (2) 4% gain (3} 5% loss (4) 5% gain

Y B da9 A 20% IE B D T 92 gY daq i fEN BRU 20% TH FR F
T A 3 wER W B B ufea @ s gl Al ?

(1) 4% B (2) 4% @™ (3) 5% = (4) 5% o™

A watch was sold in Rs. 1140 by loss of 5%. To gain of 3% the watch mayv be
sold at what selling price 7

(1) Rs. 1200 (2) Rs. 1250 (3) Rs. 1260 (4) Rs. 1270

T g T o 1140 H ITT |/ 5% W AN 21 3w 6 & e F gy o
e TN 5% T &8N 7

(1) 1200 2 (2) 1250% (3) 1260% (4) 1270%

The length of a side rectangle is 15 cm and its diagonal is 17 em. Then the area
of Rectangle is :

(1) 225 cm? (2) 200 cm? (3} 150 cm? (4) 120 em?

vE g R TEE 15 To Mo vl gHe ol B FEE 17 Wo WMo B ImI@
SAHH B

(1) 2259 ¥F  (2) 200 & & (3) 150 @+t ¥ (4) 120 @if 7

-

is:
125

.
<2 _ a1 A B
0125

¢y (23 10 (3) 15 (4 20

The value of

1B P Tk
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71, Which one among the following is greatest?

7116 21
9'13"19" 25
T 11 16 21
T 2 dohod 3) — 4) —
(1) - (2) o (3) = 4) o
e d a wEg AE 2 7
71116 21
91371925
7 11 16 21
L | oot gy = 4 ==
{119 (}13 E)w {}25

72. A + B means A is the daughter of B
" A x B’ means 'A is the son of B’
‘A - B’ means ‘A is the wife of B’
If P x Q - S, which of the following is true ?
(1) Siswifeof Q (2) Sis fatherof P
(3) Pisdaughter of Q (4) Qis father of P
‘A +B @ uef & A, BT A€l B |
"AxB @t ¥ A, BB YA E |
‘A-B @ 3l A, B@ UTT 8
A PxQ-So A% & &9 W & ?
(1) S, Q& =it & (2) S, P fUar & |
(3) P,Q& ¢ 2 (4) Q, P fumm &

73. A type of tourist who seeks novelty at all costs even at discomforts and dang
and prefers to be a part of community to study the behaviour and culture of t
local people :

(1) Allocentric (2) Midcentric
(3) Psvchocentric (4) Drifter

wieh W Uk YoR W Gdd BHa W AR 78 a6 5 gl ok w3
g8 W AN @ WY F9ER AR Wl Y gHeE - e @ fau 9w o

UAT B el &
(1) e 2) fedts
(3) wEHRiE (4) fywex

(16)



74,

75.

76.
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What is the name of Mantaign's travel book ?

(1) The voyage the great 2) Journal de voyage

(3) Voyage de world (4) Travel de world

HIZA B AT YIS ST AR R E P

(1) R dga & 32 (2) wFier & e

(3) ds € ged (4) ZaE € 9o

The employment which is created as a result of expenditure by local residents
from the money earned from tourism is known as :

(1} Direct employment (2) Indirect employment

(3) Induced employment (4) Generated employment

AR W i it gR wed @ sl w9 o1 wd a9 @ Yo g 2 g
fed AH | ST ST ® 7

(1) "eae Ao (2) WS ATTR

(3) R o (4) Iamfeq TR

This consists of two lists of philosophers and philosophies. The candidate has

to match an item in one list with an item in the other.

List -1 List - 11

(Philosopher) (Philosophies)
i.  AdiShankara A. Visishtadvaita
ii. Ramanujacharya B. Dwaita
iii. Madhwacharya C. Adwaita
iv. Nagarjunacharya D. Mahayana Buddhism
Codes :

1 i 111 iv
(1) B A & D
2) C B A D
(3) D C B A
(41 A B C 1D

(17) PT.O
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-1 & Tﬁf’l-ﬂﬁ giferd GG

RE - 1 -1

(CHIRED) (ze)
i, anfy s@w A. faftrenia
i, REATAT B. &d
ili, =EErarg C. ¥gd
v, AR D. sErE dg oW
E'“E‘:
i 11 iii v
(1) B A = D
2y C B A D
3 D C B A
4y A B C [

77. Revenue Per Available Room (Rev PAR) is used to evaluate the vield. It i
calculated by using the formula :

Actual room revenue
f:]} Rev PAR

Number of rooms available
Actual occupancy percentage
Average Room Rale

(2) Rev PAR

Ave Room Ral
(3) Rev PAR verage Ro ate

il

MNumber of rooms sold
Actual room revenue

(4) Rev PAR

I

Potential room revenue
e Uy Sural &1 (Rev PAR) &1 &dl ITHEH & Yelid 3§ wya v wrey |
fore ®P | gwa! 7oA B 8§ 7
qRA® HEY I Y
FUAE] BRI B FET

arefas atfesirr & uieree
(2) Y9 IR =

I F AT 6y

~ Y W] T 2

e o9 =92 T FERT P T
- " FN T TEETE ATAS
wHY O ganfg amHg

(18)

(1) ¥8 9” (Rev PAR) =
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78.  This consists of two lists of airlines and their own hotel chains. The candidates
have to match the airline with their hotel chain.
List - I List - 11
(Air lines) (Hotel Chains)
. Aer Lingus A, Centaur Hotels
. Japan Airlines B. Meridien Hotels
iii. Air India C. Nikko Hotels
iv. Air France D. Dunfey Hotels
Codes :
i ii 1ii iv
A B D C
(2) B D % A
3y D C A B
(4) B A D C
-1 A G-I e
-1 & - 11
(TIRATE) (@ed g
i, war fem A. HER BrEed
i, U Uaergd B. WafeTT Blee
iii. TR sfem C. o greed
v, TIR Wi¥ D. &% gl
i i1 1 A4
(1) A B D £
(2) B D % A
3 D C A B
(4) B A D C
79. The document initiated by the Bell captain on a guest arrival is called :
(1) Errand Card (2) Lobby Control Sheet
(3) Scanty Baggage Register (4) Miscellaneous charge vouchers

(19) P.T.O.
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80.

81.

82.

mﬁmrﬂgﬁTQﬁfﬁEﬁﬁﬂWﬁﬁmWWﬂiﬁﬂﬁﬁﬂgi

(1) oBY FTS ) @il dgtet e
(3) arem AT ey (4) HTHT ara; araTi

‘Skipper’ as per hotel lerminology is :
(1) A guest with hand luggage only
(2) A registered guestwho has nol used the room

(3) A guest who has checked out before his scheduled departure daw
(4) A guest who has departed withoul settling his bill

frTe 2led wEae @ SR B

(1) lﬁwﬁﬁxiﬁﬂﬂrﬁia—ﬁWmWWWﬁ & %

(2) whﬁqmm%ﬂ?ﬁmwmr@fdvu

(3) ve afaftr R sk ffy & @ & ged BS R
(3) T SR ot ome fae &1 foes & e 8 farer & an)

Which one of the following is the implict cost of package tour business ?

(1) Accommodation cost (2) Ticket cost

(3} Ground transport cost (4) Research and Development cost
Prffag # & Saw yam Y@ @ SRIE @FTd 2

(1} 3TaT| anTe (2) feme amd

(3p i oRges @rm (4) i v fawm e

Discrimination pricing 1s :

(1) Low price is set in the early stages of the lifeeyele in order to build market

(2) Where prices differ according to different market sectors

(3) Where the price is determined by the cost of the products

(4) Where price is set according to the affordability of the market

H‘t"F'E*irh e fAei=e &

(1) e Seorge @ | @ @ Urs W S R @i v e s feu
AT BT g far @ ?ﬂ'cf‘ai

(2) WEf g @ A= weel 4 @mal 1 99§

(3) Fang B ST W A & R gEr g

(4) et g B W @ o R @ @ PR e wm g

(20)
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83. This consists of two lists, the first being the plan & events and the second vear.

The candidate has to match an item in one list with an item in the other.

1il.

1V.
Codes :
i
(1) D
(2) C
(3) B
4) A

List-1

National Action Plan for tourism

National committee on tourism

List - I

A. 1958
B.

1986

Formation of the Ministry of C. 1992
Tourism

Formation of the Department of D. 1967
Tourism, Government of India

o N w

A1 7 D51 U gl € R G- 9 | 39 - o g i

i

g - 1

U gl B AN
i Wy udes afafa
iii. T4 WATY B WAl
iv. gded faarT 9RT WaR @ RATAr

e

~

B

o N w P

iil

= = O M

D o ™

(21)

=2

g - 11

1958
1986
1992
1967

P.T.O.
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84. Tourism as a subject is a part of :

85.

86.

87.

(1) Centrallist  (2) State list (3) Concurrent list (4) Union list
qees @ fmy e arFadid ST 8 7
) WETT I (2) wrSa I (3) e (4) e e

The process of setting goals and choosing the means by which these goals will
be achieved is known as :

(1) Leading (2) Planning (3) Organising (4) Cont mlling
Iewy a9 uftsar ok 99 & ofd @ foy WeET @ 9uH FEem @
(1) aramg (2) Fraree (3) E@fed w1 () Frosw

Assertion (A) : New forms of accommodation has become very popular like
paying guest houses, home stay, bed and breakfast, etc.

Reason (R) : Even the richest tourist who visits India takes an accommodation
in the humble homes of peasants to live and learn the real Indian life.

{1} Both {A)and (R) are lrue

(2} Both (A) and (R) are true, but (R} is not the correct explanation.

(3) {A)1s true, but (R) is false.

(4) (A)i1s false, but (R) is true

AFHUT (A) : G F FU wY gL UgI e ¥, BW W, 92 3l T g
AT B T 8 |

% (R) : ¥RT @ a5 &9 9t ool gded aa W s feami @ ol 6 smerg
TG & T 9 Ry & g offdd @l snF 8 |

(1) (A) AR (R) 3=T 981 2|

2) (A) 3R (R) 9 |E 2 T (R) Fel WiHeor 12 & |

(3) (A) T 2 o= (R) TTeTdl & |

(4) (A) TTea &, 9= (R) WEl £

Assertion (A) : Market testing is done to learn how consumers and dealers
react to handling, using and repurchasing the actual product and how large the
market is :

Reason (R) : Marketing testing can be made at a chosen section of the market
on geographical grounds.

(1Y Both (A) and (R) are true

(2) Both (A) and (R) are true, but (R} is not the correct explanation

(3) (A)is true, but (R) is false

(4) (A)is false, but (R} is true

(22)
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mﬁamm}:mqﬂwwmm#a%ﬁﬂﬁmm%%wﬁﬁaﬁqﬁzﬁm
ﬁmwﬁaqgmﬁﬁéﬁrqquhﬁﬁaﬂ?gﬁrﬂwmﬁﬁﬁﬁ‘l%aﬂ?ﬁﬁm?ﬁ
feT0 aroim & @ wsnaed & |

@ (R) :ﬁﬁ@ﬁuﬁwﬁhﬁﬁwmﬂﬁ#mzﬁﬁﬁﬂqﬁmmﬁ%m
HHAT £ |

(1) (A)afR (R) w8 &

(2) (A)3R (R) Wl 2, W= (R) TE ST 18 2

(3) (A) W& 8, wveg (R) Tord |

(4) (A) 7Tad 2, W (R) |eEY 2|

This list consists of two lists of activities and locations, the candidate has to
match an item in one list with an item in the other,

List - I List - II
(Activities) (Location)
i. Aqua Tourism A. Beachresorts & Hill resorts
1. Sports Tourism B. Movement of players and sport Admirers
iii. Adventure Tourism C. Trekking, Skiing, Mountaineering, etc.
iv. Resort Tourism D. Hover crafts and Hydrofoils.
Codes :
i i1 111 v
1y B C D A
2) D B C A
3) C B A D
(4) A D B C
A1 T ART B GE-IL S wE | g Bifey
¥l - 1 - 11
(fopa-me) (%)
i e e A. da (G ok gddfr Rard
i, e gdes B. fReenfeal v wa il & sorme

iij, wRew gUes C. zfd7, Regn, vdarEw sl
v, Rd e D. g% ®9e ¥R FESwiued

(23) PTO.
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@' g

i il iii v
(1) B C D A
{2y D B C A
3 C B A D
4) A D B C

89. This consists of two lists of museums and places, the candidate has to match an
item in one list with an item in the other.

List-1 List-1I
{Museums) (Place of Location)

i. The Indian Museum A. New Delhi
ii.  National Museum B. Kolkata
iii. Prince of Wales Museum C. Mumbai
iv. The Government Museum . Chennai
Codes :

1 ii iii iv
(1) B I D A
[2'} C B D A
LA B B C A
(4) B A i D

-1 3 w8l B G-I @ wet 7 gaferd @
-1 - 11

(HUETed) (e2T)
i WRAE GUEES A. 73 fawen
ii. T H@UEEy B. I
iii. fiiy offs et wUEled C. wag
iv, TREN HUETE D. u=g

(24)



80.

1.
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7T

1 1 1ii iv
{H B @ D A
(2 € B D A
(3 D B 2 A
4 B A C B)

Which of the followin g cities are associated with ship building ?

(1) Antwerp (11} Prieste (ii1) Minsk (iv) Hanburg
Select the correct answer using the code given below :

(1) (i), (ii) & (iv) only (2} (i) & (ii) only

(3) i), (iii) & (iv) only (4) (1), (iti) & (iv) only

Frefefaa & 9§ &19-9 wer, ge fmfr @ gefa € 2

(i) Vead (i) wEw (iti) A= (iv) TTart
At R 1 wme @1 v e 98 9 g -

(1) dda (i), (ii) IR (iv) (2) Faa (i) 3R (ii)

(3) Fad (i), (iii) 3R (iv) (4) F9 (1), (1ii) 3R (iv)

Which one of the following is correct ?
(1) The camel ride is the only method of excursion in Jaipur.
(2} The Pushkar fair is held every year in the month of July / August.

{3) The fort of Bikaner was an important place on trade route from Central
Asia to Gujarat.

{4) The sacred Kamakhya Devi temple is located in Bhubaneswar.
fFreiferftaa # 4 @H-w1 w8 8 ?

(1) SR ¥ 3991 FT (HATT GRF S B Fan )

(2) YBY BT HAT &R T§ FAS /AT D FE H e

(3) @R &1 fben =1 T qur TR & g wnaaRe An w Te wEeae
T o |

(4) TTARST ) B argq ARG aTear § Red &)

(25) P.T.6
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s : , .
92. In which month Surajkund Craft mela is held every year -

83,

94.

95.

(1) january (2) February (3) March (4) April
TR e Eeide Al aferad frg wE | ool &

iy TG (2) WA (3) wd (4} b
Which one of the following is correctly stated ?

(1) Hawa Mahal is in Jodhpur

(2) Lake Palace is in Darjeeling

(3} Charminar is in Golconda

(4) Prince Albert Museum is in Jaipur

Frefarfag © o -0 U= wE 8 Y

(1) &a1 #gd AR A §

(2) stel 78S Sreifem # T

(3) =W HAR MEEIS 7 |

(4) Bg yead dIEe FOgE K ¢

The WAGHA border falls in which state ?

(1} Jammu and Kashmir - (2) Himachal Pradesh

(3) Punjab (4) West Bengal

e < fe v A 8 7

(1) PR (2) fedrgs wom

(3) U (4) ufes e

The project Tiger’ was launched in the year .

(1) 1972 (2) 1973 (3) 1974 (4) 1975
TR afEeET @ e ad st Rrar o e

(1) 1972 (2) 1973 (3) 1974 (4) 1975

(26)



96.  Which ong of the

97.

98.

99.

18P/306/25(Set-1)

following temples has the longest corridor ?
(1) Sri Meenakshi temple, Madurai

(2} Sri Ramanatha Swam v temple, Rameshwaram

(3) Sriranganatha Swami temple, Srirangam

(4) SriBrihadhisvara temple, Thanjavur

e 5t 4 & o ws1 TR by AR @ 2 2

(1) A [4f2w, agud

(2) # e T R, e

(3) # YAy wmnl AR, N

(4) &1 gee¥aw AR, oo

"ATT"is an acronym for :

{1y Airport Travel Tagx (2) Aviation Travel Time

13} Airport Transfer Time (4) Airport Transfer Tariff

R R G e e e i

(1) TR g9 <o (2) sfaver ot ergm

(3) TERUE giEww TIgA (4) vaRae grgwR 2w
Where the Head Quarter of PATA is located ?

(1) Madrid (2) Paris (3) Amsterdam (4) Honolulu
@ u & v ot Jerer el Rua & 7

(1) Afgs (2) 9R= (3) tmesH (4) By
Inventories can be considered as :

(1) Asset (2) Liabilities

(3) Profits (4) Loss

ATe w{fErEl BT A A7 Hahe €

(1) ofdwmfy & wq § (2) <ifi & wy 9
(3} 7 FE WA 4) &9 & 5y 9

(27) P.T.O.
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100. Which of the following forms apart of an im-‘unturf,-' ?

101.

102.

1) Raw materials (2) Work-in-progress
(3) Defective goods (4) All of the above
frey # @ @ta-w why gt @ fRwm g @ 7

(1) e Hicd (2) wiedE w1

(3) @Y AT (4) SORYERT T

Which of the following is also referred to as Inventory cushions ?
(1) Maximum stock

(2) Safety stocks

(3} Slock outs

(4) None of the above

forey 4 ) Oy et g2 e o 2 7

(1) sferwds ©iF & w9 4

(2) ATE i@ @ €9 H

(3) EIF aMSe & Y A

(4) Swe A & w9 4 7@

Stock must be managed well in order to :
(1) Minimize losses
(2} Improve efficiency
(3) Maximize profits
4) All of the above |
g @1 Feiife vy fbar o =g
(1) 211 &1 &9 F &9 B @ o
(2) @14 &\ B GERE & o
(3) @™ B d&E F H4dF T B o
(4) Sudam o) @ farg
(28)
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103.  The short distance movement of material between two or more points refers to :

104,

105.

(1) l-"l.’:arehmm'ng

(2) Tranﬂportation

(3) Material handling
(4) Material management

ﬂmmﬁﬁaﬁiﬁmwﬁa&?ﬁqiﬂ?ﬁ?ﬁmﬁww%:
(1) wosRexv (@ov graf)

(2) aiRFeA
(3) Wl W) A H o
(4) Al geers
The management of ................ includes, supplying the product and service,
needs of the end consumer, encompassing the supply chain of any physical
products and the exchange processes involved,
(1) Raw materials (2) Finished goods
(3} Resources (4) Manpower
ﬁmﬂﬁmwnmﬁrﬁ%mﬁfﬁmﬁmaﬁmﬁazﬁmgaﬂq
SUHIET 6 ATED], WA T IS B Agfef @ g ¥ g ¥
(1) e wra (2) AR A
(3) |xmE (4) #ra iR
ereeeeennnns 16 the most vital part, the fulcrum on which success of the whole

supply chain exercise rests.
(1) Process integration (2) Branding
(3} Assembling (4) Advertising

......................... wEiferes FEwagt 9T 8, ol amgf aEer 3w wwde amuw 0o
R &
(1) widar vamw (2) =ifET
(3 HHET (4) fasmg=

(29) P.T.O.
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106.

107.

108.

. v also refer o an
Supplier is often used symnymnuﬁl}f wth s DL TRAY also refe

internal company resources.

(1) Vendors (2) Wholesaler

(3} Retailer (4} Producer

Sl B TG FA v Eﬁwmmﬂ%ﬁﬁaﬁiaﬂﬁﬁzﬁmeﬂ?ﬁ

farq ofr @ W B

(1) faar (2) efrh faspa
(3) ga¥ (4) FeaTah
s cOllect all payments from customers and maintains an inventory of

the supplier's or manufacturer's products.
(1) Manufacturer (2) Retailer
(3) Wholesaler (4) Distributor

......................... TER] W W g BT THE eyal § O STRied & A
fafriogdt & Searg & Aol YA B -GG I #

(1) fafmioraa (2) a1 e
(3) o fagan (4) fams

<oervennr 15 the last person in the chain who sells his products and services

to the customers.
(1) Agent _ (2) Retailers
(3) Dealer (4) Manufacturer

.......................... sjgen § sftm @fdd & S UEST BT AT TG q Haeh B dua

B
(1) st () qewr fda
(3) rer (1 e

(30)
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109. Go Frungal's report provides

110.

111.

(1) Comprehensive siock analysis

(2) Sales & purchase analysis based on product

(3) Distributor, manufacturer, category & returned transaction
(4) All of the above

M—he @t U Iuerer s £

(1) foreme wia fagemy

(2) Sare w Ry fawa aen w9 Rveayo

(3) faeva, fafwivedl, wart v aed dagmr

(4) SR T

Which of the following is not a function of accounting Exercise ?
(1) Classification of accounts

(2) Preparation of financial statement

(3) Decision making

(4) Analysis of financial statements

=T § ®9-|1 o 9T @ e T8 8 ?

(1) o &7 gfiawo

(2) A< fagqeo &1 dan

(3) fota Fmfor

(4) fsfrg fgvor &1 Rvemo

Carriage outward which is the expenditure incurred on sale of goods is
recorded in:

(1) Trading account

(2) Profit and loss account
(3) Balance sheet

(4) None of the above

(31) BTG
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112.

113.

114,

ﬁ?“lqﬁaﬁmﬁﬁwaﬁﬁmmamﬁmwé,ﬁﬁaﬂé%ﬁmm%:

(1) @R @l A
(2) @™ T g @ H
(3j st Frgar A
(4) s AR 9 T8

Who of the following is the author of the book 'Crime and Punishment’?

(1) Sakharov

(2) Boris Pasternak

(3) Fyodor Dostoyevsky

(4) Mikhail Solokhov

Hrg (U2 URNRE e WS 1 frafaias ¥ § s B 8 7
(1) EERE

(2) AT TREIATE

(3) fhER eRdERD!

(4) frarge WaREE

Who of the following demarcated the boundary line between India and
Pakistan ?

(1) Lawrence {2) Straffor cripps

(3) Cyril Radcliffe {4) Mountbatten

WRE T ufeva @ drm dm Y @ Fuie A A e B oo ?
(1) @R (2) TN fory

(3) wsRa vefes (4) WrgvEdes

Which of the following was the effect of the Glorious Revolution in England ?
(1) The end of the rule of the Tudors
(2} The establishment of the supremacy of Parliament
(3) The commencement of the rule of the Stuarts
(4) The rule of the House of Hanover ended
(32)



115.

116.

117.

18P/306/25(Set-1
Wﬁ’ﬂw@[@ﬁw:ﬁaﬂﬁmﬁaﬁgaﬁﬂwwmm?
(1) cgedt & IR &1 TG
(2) HES B T o e
(3) ¥CereH P U BT AR™
(4) B39 3ii® 89N & 99T BT arg

Who of the following become acting Governor in the event of Governor's death ?
(1} Chief Minister

(2) Person appointed by the prime minister

(3) Chief Justice of High Court

(4) Speaker of the State Assembly
ﬁwﬁrﬁmﬁ#aﬁﬂmmmﬁﬁmmaﬁﬁﬁﬁﬁé?
(1) g

(2) wamHE ER1 e =

(3) FTa UIATHY BT g =rameE

(4) fAm |91 F1 e

Which of the following is a 'greenhouse gas’ and produced in waterlogged rice
fields ?

(I} Methane (2) Carbon dioxide

(3) Nitrous oxide (4) Ozone

T W ON BT EF @ wd A A e e wew N s a2 0
(1) Hee (2) FrEF SrgafaTES

(3) EEw sfarge (4) S

Temporary hardness of water is due to the presence of :

(1) Calcium sulphate (2} Calcium bicarbonate

(3) Magnesium sulphate (4) Calcium chloride

ol @ SR weweT Bl @

(1) dféwam gebe @t Iulery @ (2) dfewzs aamEre @ gaiefy O

(3) #if¥ram wewe @) Iuferfy & (4) dfewmy sefvEs @ IqRafy 4

(33) P.T.O
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118.

119.

120.

Temporary tax levied to obtain addi

tional revenue 18 called :

(1) cess (2) rate

(3) fee (4) surcharge
aﬁﬁﬂﬁ'ﬂmmmﬁﬁﬁawﬂﬂﬁwﬁﬁmﬁﬁér
(1) &= (2) ¥

(3) W (4) AT

The layer of atmosphere nearest to the earth's surface is called :

(1) Exosphere (2) lonosphere

(3) Stratosphere (4) Troposphere
god) &t waE & Prbeds diged #1 WA BEed &

(1) TRIDIIR (2) ST
(3) TR (4) ETORBER
Relics of Buddha are preserved ina:

(1) Vihara (2) Chaitanya
(3) Stupa (4) Monastery
&1 & ey Widd 8

(1) fagw H (2) Ha=a A

(3) wuH (4) HrFRED H

(34)
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sl & fay frdw

V] AT e T Al gl T e

SR L L TR GRS G 1 St CO EE S

Sy

I’ TR | Al 1 Lor

| R

G T 0 Tid e Sieada! BulA b et H ol 'f” ¢ $ bl
Pl -:'a:ﬁ Ay e 2uvEh W ST U gR) Tl coblel G AR T AR AR
g R i &

Ve el ndendy A STORRET IR A TR bl A i
CAIR B eelE St A1 fRa) TaE By @ of o dld GV L ST RN T i

T i DS QN Tl T BT B MR T Gl

PRI Tt RS 1t S P LTS I 5 F A (T ] L | F R AT

OAR GTRTE B RUW U O 0 9§ A anppHia Pt et e e war e R g0
PO B E | TE-TE AEYTS B qE HeA-GEREET bl FATE A1 WE F7 wme ufg s
q% ferdd |

Sle Wi Mo QE9-Usd U4 GERRETS CERNL Wellibl Al me e wn g
FRERI A EO R R T o r B B R RO R G LR e R R R A O

':"_j'llt':‘l .i!..-l:_ F‘:|

ikt ufaftedi & 2ig A1 uRads wd FReE g GHIltRD el @S weqen o o
Giledel bl TN HTAT ST

wod-uf¥iml § gErE UE @ i defus Wi {Bap Al ) B MG g SRTRE e
:-_;'.l.:_,-;l.-,'ll N T .;_aj} .;_J;J'-g‘?fr%m ?.,‘j.‘-'_-?l;'-i L'F ?}';."H‘-]T ,".:-'."’ a2 .F’«? .,}::.' GRS R YA 1.!.._*.-_ L @ dhn
REETHE S0 A E S F LA C IR C I

a

gohe w5 ITR & Rrl B TH @ AW A Yo 6 S G0 b wy o
3| UF T ] Ayl Hed 48 98 TR WA WA el

sosr & B U g ORI gier T Gov aqan b it el £ onl g Bl ued ga s
A8l a ared & o waafud dfem @ s B oag ol gal el it wis g Da e

ateh iR ST |

dp ol @ A ogu gREET F PO @ daw W yg own Wi ondl ue
quT B |

e & IuRT apet aflo THo Ro SwR-uA® udlenm wer /viad ¥ Brfiee @ gy Ot
¢ wafs snanfdial ®t wer-gRa@T o sfto THo 3o TOR-TA® @ FYT &9 Wy & W0
@t argafay 21

gregeft B Ten WEIE B 9 U TN I 9 4@ WF $ anlE wl dnhy

ufy ®rd apuedl gfen § arffad e w1 g wwar o ag fAwafdesa g e
T/ AT BT/ B



